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import sys
sys.path.append("statlib")
from xtest import covar_test

covar_test(dat, cpl, cp2, cp3, verbose=True)
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dat T—=87L—25A

cpl TRNT 2S5 D 44 il

cp2 B ER D 4Hi

cp3 FEEB D 44H]

verbose DIER/NRO 7Y v I ET B
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x = [5§.9, 5.7, 5.7, 6.7, 6.5, 6.2, 6.3, 6.7, 5.6, 5.3,
5.5, 5.6, 5.5, 5.3, 5.2, 6, 5.5, 5.5]

y = [1.87, 1.19, 1.22, 1.46, 1.35, 1.16, 1.62, 2.00, 1.28,



1.17, 1.74, 1.13, 1.18, 1.03, 1.23, 0.90, 1.24]

g=1[1,1,1,1,1,1,1,

import sys
sys.path.append("statlib")

1, 2, 2, 2, 2, 2, 2, 2, 2,

from xtest import covar_test

a = covar_test(x, vy, g)

2,

2]

HO: BHOOFERDOEZIIRALTHS

SS d.f.
group x slope 0.035766 1
residual 0.918788 14
total 0.954554 15

F = 0.54498, dfl1 =1, df2 =

MS F value p value
0.035766 0.54498 0.4726
0.065628
0.063637

14, p value = 0.47257

HO: HEEBTHREUCTFHERRALTSS

SS d.f.
effect & group 0.000008 1
residual 0.954554 15
total 0.954562 16

F = 0.00012429, dfl =1, df2

MS F value p value
0.000008 0.00012429 0.9913
0.063637
0.059660

= 15, p value = 0.99125




